20. (25 pts.) For the reaction of this eg:xide with methanol in acid, fill in the details of the ‘ / |
mechanism. Draw the appropriate chemical structures and use arrows to show how pairs of
electrons are moved to and break bonds during the reaction. For this question, you must draw
all molecules produced in each stelih(yes,these equa: 7ms need to be balanced!). Finally, fill in the
boses adjacent to the arrows with the type of step in olved, such as "Make a bond" or "Take a
proton away” . MAKE SURE TO NOTICE QUESTIONS AT THE BOTTOM. Use wedges
and dashes to indicate stereochemistry where appropriate, BUT if an intermediate or product is
g?sl]y a_ra%emic m}ixtm'e, vou only need to draw one enantiomer for this problem (we are making
easier for you).
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